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DEVOIR COMMUN 2nde
NOTES SUR 40
— N el < [Te)
s EEEEE
52 |12 |2 |2 (2
° o o v |© |®
nb de copies 231
notes prises en compte pour|nr 0 1 2l 3 10| 20 15 25 0/ O
Devoir Comn| 40 10 15 2,5 17| 1,8
FCT02 1.A.1 : lire eng 05 65 42 3 4/ 117 E
FCT04 1.A.2: lire tab 05 67 19| 6 8 131 0
REP valeurs (imageq 1 70, 27] 10/ 13| 111 0
REP 1.A.3: lire ext 0,5 93] 43 24| 17| 54
REP 1.A4 : lire tabl 1,5 81 43 11| 16/ 80 0
REP 1.A.5: lire anty 0,5 73 19 3 12 124 0 0
FCT08 1.A.6 : lire sol 05 101 16| 11| 11] 92 E
FCTO08 lire sol inéqual 11 107] 41 9 24 50 O
REP 1.A.7 : encadr| 05164 44 5 2/ 16 O
CAL 1.B.1: develog 1,5 113 31| 19 32| 36
CAL 1.B.2.a: calcy 05 121 22| 7/ 0 81 0
FCT08 1.B.2b : résoy 1,5 126 34/ 13 6 52 0 | I
CAL 1.B.2.c : facto 15 187] 28 4 7 5.
FCTO08 produit nul 05 217, 6 0 2 6
total 12 6 0 0 o047 ©0
STAO1 2.A: calcul de 1,5 60 34 28 13 96 0 E
calcul de prop| 1 74 61| 14| 15 67|
définition 1°"/ 05 98 56 5 7 65 0
STAO01 valeur Q1/QJ 0,5 96/ 57 12| 6 60 0
STA02 2.8 : calcul FQ 2 101 38| 21] 30 a1l o o
REP lire images 9 ¢ 11171 20[ 10 5| 25
REP calcul différe 0,5 188 11 5 2| 25
total 7 1,3 0 0 0 25 03
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124 0
GEOO03 3.3 coordo.mil 0,5 96/ 24 2| 3 106
CAL coordo. Milieu| 0,25 81 42 3 2(103 O [
GEO02 3.4 : distance 0,5/ 122 16| 1 0 92 O
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontre 1,5 101 54| 25 7| 44
GEO04 vérifier non re 1) 204) 21 1 1 4
GEO08 3.6 : aligneme| 11145 39 9 0 38
CAL alignement ca 1 168 24| 2| 4| 33
GEO13 3.7 : construir 1 136] 46 5 4 40 H:
CHR démontrer ali 1154 33| 12 7| 25 0
total 10 2,7 0 0o o 315
MOD 4.A.1: expliqu 1112 21 3 9 86 0
REP 4.A.2 : identifi 0,5 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13 8 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167| 16 3| 5 40
MOD 4.A.5: mise e 0,5 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 O 5 5 0
CAL 4.B.1: calcul 0,5 194 12 1 1] 23
REP 4 .B.3 : tracer 2/ 160, 19 19 20| 13
MOD 4.B.4 :algo — 11 138 26| 26| 12 29
MOD Algo — complé 11 141 18] 15/ 0| 57|
total 1 0 0 o 073 0
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DEVOIR COMMUN 2nde
NOTES SUR 40
~ [e) G
E82E 55
3|2 |2 |2 |0 @
D (0 o o |® o
nb de copies 231
notes prises en compte pour|nr o 1 2 3 11 3] 11 65 23 9
Devoir Comn| 40 11 3| 11| 6,5 23 0|
FCT02 1.A.1 : lire eng 0,5 65 42| 3 4 117 m
FCT04 1.A.2 : lire tab 05 67 19 6 8 131 m
REP valeurs (imageq 1 70, 27] 10/ 13| 111 m
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54 0
REP 1.A.4 : lire tabl 1,5 81 43 11| 16/ 80 0
REP 1.A.5 : lire ant 05 73 19 3 12 124 0
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92 0
FCT08 lire sol inéqual 1107] 41 9 24 50 0 0 O 0
REP 1.A.7 : encadr| 05 164 44 5 2 16 0
CAL 1.B.1: develog 1,5/ 113 31| 19 32| 36 0 0 O
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52 0
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5 0 0
FCT08 produit nul 05217, 6 0 2 6 0
total 12 2,7/ 05 3 0 52 0
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96 0
calcul de prop 1 74 61 14 15 67 0 0
définition 1"/ 05 98 56| 5 7 65 o 0
STAO01 valeur Q1/ Q3 05 96| 57| 12 6| 60
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7 4,3 ol 1,7 0 55 0|
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1] 124
GEO03 3.3 coordo.mil 0,5 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42| 3 21103 O
GEOQ02 3.4 : distance 05 122 16 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5/ 101 54 25 7| 44 0 0
GEO04 vérifier non re 11 204 21 1 1 4 0 0
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 05 194 21 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1 138] 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde
NOTES SUR 40
O e A o
o o o o o o
RRERCRERE
» o o o o |®
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3| 5,5 21/19,5/13,5 0
Devoir Comn| 40 5,5| 21/19,5/13,5| 4,9
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117
FCT04 1.A.2 : lire tab 05 67 19 6 8 131 |
REP valeurs (imageq 1 70, 27] 10/ 13| 111 0
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A4 : lire tab 1,5 81 43 11| 16/ 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12 0| 0 o0 005
STAO1 2.A: calcul de 1,5 60 34 28 13 96 .
calcul de prop| 1 74 61| 14| 15 67|
définition 1"/ 05 98 56| 5 7 65 0
STAO01 valeur Q1/ Q3 05 96| 57| 12 6| 60
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7| 0| 0 0 022
GEO01 3.1 : placer pd 1 58 5 3 10/ 155 [ |
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 05 122 16 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontrg 1,5 101] 54] 25 7] 44 0
GEO04 vérifier non re 1) 204) 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38 0
CAL alignement ca 1168 24 2| 4| 3§
GEO13 3.7 : construir 1] 136]_ 46| 5 4 40 |
CHR démontrer ali 1154 33| 12 7| 25 0
total 10 0| 0 o0 023
MOD 4.A.1: expliqu 11120 21| 3 9 86
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5 : mise el 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23 0
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4 :algo — 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0| 0 0o o O
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DEVOIR COMMUN 2nde
NOTES SUR 40
e 5 1 &
» o |% |o b |®
nb de copies 231
notes prises en compte pour|nr 0 1 2
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101 16/ 11 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,50 126 34| 13| 6
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STAO01 valeur Q1/ Q3 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05 122 16 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construir 1.136| 46) 5 4 40 o 0
CHR démontrer ali 1154 33| 12 7| 25 0
total 10 5 2,2 1| 1,5/2,83/2,75
MOD 4.A1: expliqu 1112 21 3 9 86. o o
REP 4.A.2 : identifi 0,5 152 33| 5 2| 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrd 1,5 128 17] 5 11] 70 | I
interpréter 0,25 167 16| 3| 5 40 0]
MOD 4.A.5: mise e 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19| 19 20 13
MOD 4.B.4:algo— 1 138] 26| 26] 12| 29 0|
MOD Algo — complé| 1 141] 18 15 0 57|
total 1 4 0 0 01,83 o0
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DEVOIR COMMUN 2nde
NOTES SUR 40
< w0 © ~ 2o}
222 |2 |2 |2
» |0 o o O o
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 0 10
Devoir Comn| 40 0 0
FCT02 1.A.1 : lire eng 05 65 42 3 4117 0
FCT04 1.A.2 : lire tab 05 67 190 6 8 131 0
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54 O
REP 1.A.4 : lire tabl 1,5 81 43 11| 16| 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101] 16| 11| 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34/ 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12 0 0
STAO01 2.A: calcul de| 1,5/ 60 34 28 13 96 0
calcul de prop| 1 74 61 14| 15 67 0
définition 1"/ 05 98 56| 5 7 65
STA01 valeur Q1/QJ 05 96| 57| 12 6| 60
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7| 0 0
GEOO01 3.1: placer pa 1 58 5 3 10155 O
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 05122 16| 1 0 92 0
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5/ 101 54 25 7 44 ©
GEO04 vérifier non re 1) 204) 21 1 1 4
GEO08 3.6 : aligneme| 11450 390 9 0 38 0
CAL alignement ca 1 168 24| 2| 4| 33
GEO13 3.7 : construire 1 136] 46| 5/ 4| 40
CHR démontrer ali 1154 33| 12 7| 25
total 10 0 0
MOD 4.A.1: expliqu 11120 21| 3 9 86 0
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5(128 17| 5| 11 700 0
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5: mise e 05194 21 3 1 12 0
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19/ 20 13 0
MOD 4.B.4:algo— 1138 26| 26| 12 29 0
MOD Algo — complé| 1 141] 18 15 0 57| 0
total 1 0 0 3,5|
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DEVOIR COMMUN 2nde
NOTES SUR 40
S [« [N [«
o g o a8 g @
O o |9 o |6 |®
nb de copies 231
notes prises en compte pour|nr o 1 2 3 0 13 0] 1 17| 12
Devoir Comn| 40 1] 26| 3,2 0 12
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117 o O
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A4 : lire tab 1,5 81 43 11| 16/ 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12| 0 75 0 0 O
STAO01 2.A: calcul de| 1,5 60 34 28 13 96/ O
calcul de prop 1 74/ 61 14 15 67 O
définition 1"/ 05 98 56| 5 7 65 o O
STAO1 valeur Q1 / Q4 05 96 57 12| 6 60 H 0
STA02 2.B : calcul F( 2 101 38 21| 30, 41 0
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7| 0| 4,5 2,5 0 0
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127| 0
CAL Coordo. Vect 05 73 24 9 1 124 0
GEO03 3.3 coordo.mil 05 96| 24 2 3 106 0
CAL coordo. Milieu 0,25 81 42 3 2 103 0
GEO02 3.4 : distance 05 122 16 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontrg 1,5 101] 54] 25 7] 44
GEO04 vérifier non re 11 204 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38
CAL alignement ca 1168 24 2| 4| 3§
GEO13 3.7 : construirt 1 136] 46] 5 4 40
CHR démontrer ali 1154 33| 12 7| 25
total 10 1 0,7 0 0
MOD 4.A.1: expliqu 11120 21| 3 9 86
REP 4.A.2: identifi 05152 33 5 2 39 | |
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5 : mise el 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4 :algo — 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0/8,08 0 0 0
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DEVOIR COMMUN 2nde
NOTES SUR 40
318 1813 |2 |
o (=] (=3 o o o
® |60 |0 |» o |©
nb de copies 231
notes prises en compte pour|nr 0 1 2l 3135 85 O 9 19 21
Devoir Comn| 40 13,5/ 8,5
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A.4 : lire tabl 1,5 81 43 11| 16/ 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12 0|
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96
calcul de prop| 1 74 61| 14| 15 67|
définition 1"/ 05 98 56| 5 7 65
STAO01 valeur Q1/ Q3 05 96| 57| 12 6| 60
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7| 0|
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 05 122 16 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5 101] 54] 25 7] 44
GEO04 vérifier non re 1) 204) 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38
CAL alignement ca 1 168 24| 2| 4| 33
GEO13 3.7 : construirt 1 136] 46] 5 4 40 0
CHR démontrer ali 1154 33| 12 7| 25 0
total 10 0 0 36 15 0 46
MOD 4.A1: expliqu 1112 21 3 o 86 [ |
REP 4.A.2 : identifi 05 152 33 5 2 39 0 0
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5: mise e 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0 007 o o038
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DEVOIR COMMUN 2nde
NOTES SUR 40
FiI2IE |12 |2 |=
[=] 9 o |o |o o
n |9 o o o |0
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 9 0 71 12] 9,5 20|
Devoir Comn| 40 0 17 7 12 9,5 21
FCT02 1.A.1: lire eng 0,5 65 42 3 4 117
FCT04 1.A.2: lire tab 05 67 19| 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3: lire ext 0,5 93] 43 24/ 17| 54
REP 1.A4 : lire tabl 1,5/ 81| 43 11 16| 80
REP 1.A.5: lire anty 0,5 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16| 11| 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50 0
REP 1.A.7 : encadr| 0,5 164, 44 5 2 16
CAL 1.B.1: develog 1,5 113 31| 19 32| 36 0
CAL 1.B.2.a : calcy 051211 220 7 o 81 |
FCT08 1.B.2.b : résoy 1,5/ 126) 34| 13| 6] 52 0 0
CAL 1.B.2.c: facto 1,5/ 187| 28 4 7| 5 0 0
FCTO08 produit nul 05 217, 6 0 2 6
total 12 0 53 0 0 057
STAO01 2.A: calcul de| 1,5/ 60| 34| 28 13| 96
calcul de prop| 1 74 61| 14| 15 67|
définition 1°"/ 05 98 56 5 7 65
STAO01 valeur Q1/QJ 0,5 96/ 57 12| 6 60
STA02 2.B : calcul FQ 2/ 101 38 21| 30 41 0
REP lire images 9 ¢ 11171 20[ 10 5| 25
REP calcul différe 0,5 188 11 5 2| 25
total 7 0 0 0 o 32
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEOO03 3.3 coordo.mil 0,5 96/ 24 2| 3 106
CAL coordo. Milieu| 0,25 81 42| 3 2| 108
GEO02 3.4 : distance 0,5/ 122 16| 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontre 1,5/ 101 54| 25 7| 44 0
GEO04 vérifier non re 1204 21 1] 1 4 ]
GEO08 3.6 : aligneme 1145 39 o o 38
CAL alignement ca 1 168 24| 2| 4| 33
GEO13 3.7 : construir 1 136] 46 5 4 40 0 o
CHR démontrer ali 1154 33| 12 7| 25
total 10 034 o o o 8
MOD 4.A.1: expliqu 1112 21 3 9 86
REP 4.A.2 : identifi 0,5/ 152] 33 5 2 39 0
REP 4.3 - tracer { 15161 16 13 ¢ 33 | ]
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167| 16 3| 5 40
MOD 4.A.5: mise e 0,5 194 21 3 1 12 0
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 O 5 5
CAL 4.8.1: caloul 05 194 12| 1 1] 23 [ |
REP 4 .B.3 : tracer 2/ 160, 19 19 20| 13
MOD 4.B.4 :algo — 11 138 26| 26| 12 29
MOD Algo — complé 11 141 18] 15/ 0| 57|
total 1 0 32 0 o0 o 38
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DEVOIR COMMUN 2nde
NOTES SUR 40
SRR ER R
? 8 2|3 |8 |2
& 16 1o o |6 |9
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 M 6| 13| 16| 6| 12
Devoir Comn| 40 12 12
FCT02 1.A.1 : lire eng 05 65 42 3 4 0
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5/ 126 34/ 13| 6| 52 0
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5 0
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde
NOTES SUR 40
< w0 © ~ 0 (=2}
S8 (8 [8 8 |8
2123 (3 (2 |3 |3
& 18 |8 [0 |6 |6
nb de copies 231
notes prises en compte pour|nr 0 1 2] 3 5 12/ 16] 11 24 2
Devoir Comn| 40 0|
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A.4 : lire tabl 1,5 81 43 11| 16| 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101] 16| 11| 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34/ 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12 0|
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96
calcul de prop| 1 74 61| 14| 15 67|
définition 1"/ 05 98 56| 5 7 65
STA01 valeur Q1/QJ 05 96| 57| 12 6| 60
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7| 0|
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 055122 16| 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5 101] 54| 25 7] 44
GEO04 vérifier non re 1) 204) 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38 0 0]
CAL alignement ca 1168 24 2| 4| 3§
GEO13 3.7 : construirt 1 136] 46] 5 4 40
CHR démontrer ali 1154 33| 12 7| 25
total 10 0|
MOD 4.A.1: expliqu 11120 21| 3 9 86
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5: mise e 0,5/ 194 21| 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1) 138 26| 26| 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0|

Page 10



web

DEVOIR COMMUN 2nde

NOTES SUR 40
2 18 E |
312122 3|8
816 5 |8 |8 |3
nb de copies 231
notes prises en compte pour|nr 0 1
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STA01 valeur Q1/QJ 0,5 96/ 57 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5| 1
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde

NOTES SUR 40
NERERERERE
w B |0 |0 B |9
nb de copies 231
notes prises en compte pour|nr 0] 1
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STA01 valeur Q1/QJ 0,5 96/ 57| 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1 06,33 3,7 2,2
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DEVOIR COMMUN 2nde

NOTES SUR 40
cRERERIEREN =
(%] w | |® | |©
nb de copies 231
notes prises en compte pour|nr 0 1 2 18] 11 23|
Devoir Comn| 40 0|
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12 0|
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STA01 valeur Q1/QJ 0,5 96/ 57 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7| 0)
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10 0|
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5| 1
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1 0)
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DEVOIR COMMUN 2nde
NOTES SUR 40
T I2 2|52 |8
o o o o o o
W B |0 |0 B |9
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3 26,5
Devoir Comn| 40 26,5|
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A.4 : lire tabl 1,5 81 43 11| 16/ 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5 0
FCT08 produit nul 05217, 6 0 2 6
total 12 0 0833 2
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96 0
calcul de prop| 1 74 61| 14| 15 67| 0
définition 1"/ 05 98 56| 5 7 65 0
STAO01 valeur Q1/ Q3 05 96| 57| 12 6| 60 0
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 1 171] 200 10| 5 25 H
REP calcul différe 0,5 188 11| 5 2| 25
total 7| 0 0 o012
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 05 122 16 1 0 92 0 0
distance : calg 0,25| 122 14 2| 4/ 89 0
GEO04 3.5 : démontreg 1,5 101] 54] 25 7] 44 0]
GEO04 vérifier non re 1) 204) 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38
CAL alignement ca 1 168 24| 2| 4| 33
GEO13 3.7 : construire 1 136] 46| 5/ 4| 40 0
CHR démontrer ali 1154 33| 12 7| 25
total 10 0 12,75 2,8
MOD 4.A.1: expliqu 11120 21| 3 9 86 0
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrd 1,5 128 17] 5 11] 70 |
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5: mise e 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0 0 15 37
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DEVOIR COMMUN 2nde

NOTES SUR 40
S5 818128
213 3|83 |3 |3
b |88 |8 |56 |2
nb de copies 231
notes prises en compte pour|nr 0 1 2 26/24,5| 16| 16| 2
Devoir Comn| 40 16
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde
NOTES SUR 40
e} —
2|2 |82 |2 |2
®» |0 O |n | |©
nb de copies 231
notes prises en compte pour|nr 0 1 2
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1) 138 26| 26| 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0 o0[35 1167 0
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DEVOIR COMMUN 2nde

NOTES SUR 40
8182 8|58
W B |0 |0 || |©
nb de copies 231
notes prises en compte pour|nr 0 1 2
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1) 138 26| 26| 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 1,5
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DEVOIR COMMUN 2nde

NOTES SUR 40
ElEEEEE
313 |2 8 8 |@
313 |8 |3 & [&
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 5| 27| 25 215 0
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STAO01 valeur Q1/ Q3 0,5 96| 57| 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 055122 16| 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5 101] 54| 25 7] 44
GEO04 vérifier non re 11 204 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38
CAL alignement ca 1168 24 2| 4| 3§
GEO13 3.7 : construirt 1 136] 46] 5 4 40
CHR démontrer ali 1154 33| 12 7| 25
total 10 0,1
MOD 4.A.1: expliqu 1112 21 3 9 86 O
REP 4.A.2 : identifi 05/ 152 33 5 2/ 39 O
REP 4.A.3 : tracer f 1,5/ 161 16) 13 8 33 O
CAL 4.A.4 résoudrg 1,5 128 17| 5 11 70, O
interpréter 0,25/ 167| 16| 3| 5 40 O
MOD 4.A.5: mise e 05194 21 3 1 120 0 0 © 0
CAL résoudre inéq 1210, 11 4 1 5 0 0
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 B3 tracer 2 160 19 19] 20 13 ol
MOD 4.B.4:algo— 1138 26| 26| 12] 29 O
MOD Algo — complé| 1 141 18] 15 0] 57| 0
total 1 0| 49| 28
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DEVOIR COMMUN 2nde

NOTES SUR 40
gle gl 22
S |5 |9 |e | |2
» |o b |h B |D
nb de copies 231
notes prises en compte pour|nr 0 1 2 20,5 18| 6 8 22| 3
Devoir Comn| 40 20| 18|5,67/8,17| 22| 3,7
FCT02 1.A.1 : lire eng 05 65 42 3 0
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STA01 valeur Q1/QJ 0,5 96/ 57| 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10 6,3/1,67/1,17,
MOD 4.A.1: expliqu 11120 21 3 9 0
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1 o 0
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DEVOIR COMMUN 2nde

NOTES SUR 40
o e [T 228
312181888
S | B b b |[&
nb de copies 231
notes prises en compte pour|nr 0 1 2 12/10,5] 25 2 0| 18
Devoir Comn| 40 14| 18
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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web

DEVOIR COMMUN 2nde

NOTES SUR 40
P RN A S A )
13 13 13 & |3
nb de copies 231
notes prises en compte pour|nr 0 1 20 3 4 32| 11 17 9 2
Devoir Comn| 40 43
FCT02 1.A.1 : lire eng 05 65 42 3 4/117) O
FCT04 1.A.2 : lire tab 05 67 19 6 8131 O
REP valeurs (imageq 1 70 27 10 13/ 111] ©
REP 1.A.3 : lire ext 0,5 93] 43 24| 17| 54 O
REP 1.A.4 : lire tabl 1,5 81 43 11 16/ 80 O
REP 1.A.5 : lire ant 05 73 19 3 12/ 124 O
FCT08 1.A.6 : lire sol 05/ 101 16/ 11 11| 92 0
FCTO08 lire sol inéqual 11 107] 41 9 24 50 O
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34/ 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/ Q3 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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web

DEVOIR COMMUN 2nde

NOTES SUR 40
812131323
3% |3 [ B[S
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 17| 11| 10/ 6,5 17| 12
Devoir Comn| 40 17| 0
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141 18] 15 0] 57| 0| 0
total 1 28 18/ 15 0 0 o0
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web

DEVOIR COMMUN 2nde

NOTES SUR 40
3|3 |8 |3 |3 |3
313 |3 |5 |8 |5
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 8 3 19 14 21
Devoir Comn| 40 88 0 0
FCT02 1.A.1 : lire eng 05 65 42 3 4/117) O -
FCT04 1.A.2 : lire tab 05 67 19 6 -
REP valeurs (imagq 1 700 27] 10 | ]
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 11 -
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92 -
FCT08 lire sol inéqual 1107 41| 9 24 50 -
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31| 19 32| 36 O
CAL 1.B.2.a : calcy 05121 220 7 o sl [ ]
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STAO01 valeur Q1/ Q3 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05 122 16 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 05 194 21 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0 0[4,75 04,42
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web

DEVOIR COMMUN 2nde

NOTES SUR 40
$18 88|88
2|2 |2 |22 |2
@ |0 o |0 |B |0
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A.4 : lire tabl 1,5 81 43 11| 16| 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101] 16| 11| 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34/ 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96
calcul de prop| 1 74 61| 14| 15 67|
définition 1"/ 05 98 56| 5 7 65
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6| 60
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 055122 16| 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5 101] 54| 25 7] 44
GEO04 vérifier non re 11 204 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38
CAL alignement ca 1168 24 2| 4| 3§
GEO13 3.7 : construirt 1 136] 46] 5 4 40
CHR démontrer ali 1154 33| 12 7| 25
total 10
MOD 4.A.1: expliqu 11120 21| 3 9 86
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5: mise e 0,5/ 194 21| 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23 0)
REP 4 .B.3: tracer 2/ 160 19 19 20| 13 o o0
MOD 4.B.4:algo— 1) 138 26| 26| 12| 29 0)
MOD Algo — complé| 1 141] 18 15 0 57 0)
total 1 04,17/1,75/ 1,2 4,9
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web

DEVOIR COMMUN 2nde

NOTES SUR 40
2 s |22 € |8
818313133
& |3 |3 |6 |6 |6
nb de copies 231
notes prises en compte pour|nr 0 1 2
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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web

DEVOIR COMMUN 2nde

NOTES SUR 40
© [~ [0 [ [© [«
S |55 |a |8 |8
? 3|2 |3 |2 |3
& |3 |3 |6 |6 |8
nb de copies 231
notes prises en compte pour|nr 0 1 2l 3 20 25 0 9 24
Devoir Comn| 40 8,2
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1138 26| 26| 12] 29 O 0
MOD Algo — complé| 1141 18/ 15 0 57| O
total 1 2,2| 81| 2,5/ 34 0|
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DEVOIR COMMUN 2nde

NOTES SUR 40
SIE5Ig1818
17 T 2 7 T B 7 T K2
nb de copies 231
notes prises en compte pour|nr 0] 1 2 3 11 22 2 13
Devoir Comn| 40 2
FCTO2 1.A1: lire eng 05 65 42 3 4 |
FCT04 1.A.2 : lire tab 05 67 19 6 8 B
REP valeurs (imagq 1 70 27 10 13 | ]
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101 16/ 11 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,50 126 34| 13| 6
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15 0
définition 1"/ 05 98 56/ 5 7 0
STAO01 valeur Q1/ Q3 05 96/ 57| 12 6 0
STA02 2.B : calcul F( 2| 101 38| 21| 30 0
REP lire images 9 ¢ 1. 171] 20| 10 5 25 0
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05 122 16 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 05 194 21 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1 138] 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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web

DEVOIR COMMUN 2nde

NOTES SUR 40
21222 2|2
w0 v |0 o |?
nb de copies 231
notes prises en compte pour|nr 0 1 2l 3 17| 25145 18 7|
Devoir Comn| 40 17 7,17|
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12 0)
MOD Algo — complé| 1 141] 18 15 0 57 0)
total 1 1,5/ 65525 5 0

Page 28




web

DEVOIR COMMUN 2nde

NOTES SUR 40
1281225
2212 2|3 |2
8 618 |6 % |&
nb de copies 231
notes prises en compte pour|nr o 1 2 3 18 0 16 0 7|75
Devoir Comn| 40 18 11| 16 1,7| 7,2| 7,3
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117 0 0
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111 0
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54 0
REP 1.A4 : lire tab 1,5 81 43 11| 16| 80 H
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92 0 0
FCTO08 lire sol inéqual 11 107] 41 9 24| 50 0
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36 0
CAL 1.8.2.a: caley 05121 22 7 o &1 0 E
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52 0
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5 0
FCT08 produit nul 05217, 6 0 2 6 0
total 12 o 3 o002 3 33
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96 0
calcul de prop| 1 74 61| 14| 15 67| 0 0
définition 1"/ 05 98 56| 5 7 65 0 0
STAO01 valeur Q1/ Q3 05 96| 57| 12 6| 60 0
STA02 2.B : calcul F( 2 101 38 21| 30, 41 0
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 05 122 16 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontrg 1,5 101] 54] 25 7] 44
GEO04 vérifier non re 11 204 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38
CAL alignement ca 1168 24 2| 4| 3§
GEO13 3.7 : construirt 1 136] 46] 5 4 40
CHR démontrer ali 1154 33| 12 7| 25
total 10
MOD 4.A.1: expliqu 11120 21| 3 9 86
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5 : mise el 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.8.1: caloul os 194 12l 1 1 23 [N
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4 :algo — 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0 2 o 0 1 o0

Page 29



web

DEVOIR COMMUN 2nde
NOTES SUR 40
S E (22 [E
o o o o
2] (2] n 2] 1) (2]
nb de copies 231
notes prises en compte pour|nr o 1 2 3 8 24/ 13 2 6 2
Devoir Comn| 40 0 2,56,42 2,8
FCT02 1.A.1 : lire eng 05 65 42 3 4 0 0
FCT04 1.A.2 : lire tab 05 67 19 6 8 0- 0
REP valeurs (imageq 1 70 27| 10] 13| 0 0
REP 1.A.3 : lire ext 0,5 93| 43| 24 17 0 0
REP 1.A.4 : lire tabl 1,5 81 43 11| 16 0
REP 1.A5 : lire ant 05 73 19 3 12 - ol
FCT08 1.A.6 : lire sol 0,5 101 16/ 11 11 0
FCTO08 lire sol inéqual 11 107] 41 9 24 0
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32 0]
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12 3] 7 0 021,33 07
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96 0 0
calcul de prop| 1 74 61| 14| 15 67| 0 o O
definition 1 / 05 98 56| 5 7] 65 o ol
STAO01 valeur Q1/ Q3 0,5 96| 57| 12 6| 60 0 0
STA02 2.B : calcul F( 2 101 38 21| 30, 41 0
REP lire images 9 ¢ 1. 171] 20| 10 5 25 0
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05 122 16 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 05 194 21 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1 138] 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1 0,7/ 63| 0 13/167 0

Page 30



web

DEVOIR COMMUN 2nde
NOTES SUR 40
= e E e e
212222 |3
b6 |8 |6 |8 |6
nb de copies 231
notes prises en compte pour|nr o 1 2 3 171 5 17/ 0] 11| 4
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STAO01 valeur Q1/ Q3 0,5 96| 57| 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5| 1
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1 138] 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde
NOTES SUR 40
[=2]
g2 |2 |2 |3 |2
® o |o |6 |6 |9
nb de copies 231
notes prises en compte pour|nr o 1 2 3 4 9 8 19 22/ 0
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STAO01 valeur Q1/ Q3 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57
total 1 0| 0] 25 06,67 45
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DEVOIR COMMUN 2nde
NOTES SUR 40
212 3|3 |3 |3
& 18 18 |8 |6 |»
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 55 65 18 16 29 O
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 05 194 120 1 1 23 0
REP 4 .B.3: tracer 2/ 160 19 19/ 20 13 0
MOD 4.B.4:algo— 1138 26| 26| 12 29 0
MOD Algo — complé| 1 141] 18 15 0 57| 0
total 1 0|
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DEVOIR COMMUN 2nde

NOTES SUR 40
21218858
%) w |0 |» ®w _|n
nb de copies 231
notes prises en compte pour|nr o 1 2 3 16| 29 29| 29
Devoir Comn| 40 16| 29 28| 29
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101 16/ 11 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,50 126 34| 13| 6
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STAO01 valeur Q1/ Q3 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05 122 16 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11 0
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 05 194 21 3 1 0
CAL résoudre inéq 1210, 11 4 1 5| 0 0
interpréter 025215 6 0 5 5 0
CAL 4.B.1: calcul 05194 12| 1 1 23 0
REP 4 B3 tracer 2160 19 19 20 13 |
MOD 4.B.4:algo— 1 138] 26| 26] 12| 29
MOD Algo — complé| 1 141] 18 15 0 57 0
total 1 1,3| 3,8 51 43
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DEVOIR COMMUN 2nde

NOTES SUR 40
gl E 212 F
S o |9 |o (=3 E=}
212 2288
w n o |no |0 |®
nb de copies 231
notes prises en compte pour|nr 0 1 2l 3 0] 15 30 18 15 O
Devoir Comn| 40 15| 18|
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STA01 valeur Q1/QJ 0,5 96/ 57| 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde

NOTES SUR 40
e le |z |2 |2 |]
CHEREREREN-
2 EE I 2
%) w |® %) (2]
nb de copies 231
notes prises en compte pour|nr 0 1 2
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STAO01 valeur Q1/ Q3 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde

NOTES SUR 40
5813181818
212 |33 |3 |3
o |56 |% |6 |6 |5
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 321 20/ 33 11 14/ 13
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STAO01 valeur Q1/ Q3 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1 138] 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1
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DEVOIR COMMUN 2nde
NOTES SUR 40
82181388
33 |8 |3 |8 |8
% |5 |6 |5 |6 |6
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3 31 34 16| 36 22 12
Devoir Comn| 40 0
FCTO2 1.A1: lire eng 05 65 42 3 4 |
FCT04 1.A.2 : lire tab 05 67 19 6 8 ||
REP valeurs (imagq 1 70 27 10 13 |
REP 1.A.3 : lire ext 05 93 43 24 17
REP 1.A4 : lire tab 1,5 81 43 11 16 |
REP 1.A.5: lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 05 101 16] 1] 11 |
FCTO8 lire sol inéqua 1107, 41] o 24 ]
REP 1.A.7 : encadr] 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32 ]
CAL 1.B.2.a: calcy 05121 22 7 ¢
FCT08 1.B.2b : résol 1,5 126) 34/ 13 ¢ | ]
CAL 1.B.2.c : facto 1,5 187 28 4 7
FCT08 produit nul 05217 6 o0 2
total 12
STAO1 2.A : calcul de 1,5 60 34/ 28 13
calcul de prop| 1 74 61 14] 15
définition 1% / 05 98 56 5 7
STAO1 valeur Q1/Q4 05 96 57 12| &
STA02 2.8 : calcul FQ 2 101 38 21 30
REP lire images 9 1 171] 200 10| 5
REP calcul différe 05 188 11 5 2
total 7
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GE003 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Miliey 025 81 42 3 2
GE002 3.4 : distance 05 122 18] 1 0
distance : calg 0,25| 122 14 2| 4|
GE004 3.5 : démontre 1,5 101 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : alignemel 1145 39 9 o
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1| 154 33 12 7|
total 10
MOD 4.A.1: expliqu 1112 21 3 o
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5 161 16 13 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 025 167 16 3 5
MOD 4.A.5: mise e 05 194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215, 6 0 5
CAL 4.B.1 : calul 05 194 12| 1| 1
REP 4 B.3 : tracer 2| 160, 19 19 20
MOD 4.8.4: algo — 1| 138] 26] 26/ 12
MOD Algo — complé| 1 141] 18] 15 0
total 1 3,58,174,33/0,83
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DEVOIR COMMUN 2nde
NOTES SUR 40
2125885
» |0 o |» [} O
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3225 25 10 30 14 O
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121 22 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5| 60 34 28
calcul de prop| 1 74 61 14
définition 1"/ 0,5 98 56/ 5
STA01 valeur Q1/QJ 0,5 96/ 57| 12
STA02 2.B : calcul F( 2 101 38 21
REP lire images 9 ¢ 1) 171] _20] 10
REP calcul différe 0,5 188 11 5|
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10 292 0 o 1
MOD 4.A.1: expliqu 11120 21 3 9 0)
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1 0 o o O
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DEVOIR COMMUN 2nde
NOTES SUR 40
S 2818|828
%) [ [ 1) ) %)

nb de copies 231

notes prises en compte pour|nr 0 1 17|

Devoir Comn| 40 0
FCTO2 1.A1: lire eng 05 65 42 3 |
FCT04 1.A.2 : lire tab 05 67 19 6 |
REP valeurs (imagq 1 700 27] 10 ]
REP 1.A.3 : lire ext 05 93 43 24
REP 1.A4  lire tab 1,5 81 43 11 |
REP 1.A.5: lire ant 05 73 19 3 B
FCT08 1.A.6 : lire sol 05 101 16 11 |
FCTO8 lire sol inéqua 1107 41 9 |
REP 1.A.7 : encadr] 05 164 44 5 |
CAL 1.B.1: develog 1,5 113 31 19 B
CAL 1.B.2.a: calcy 05 121 22 7 ||
FCT08 1.B.2b : résol 1,5 126 34| 13 | ]
CAL 1.B.2.c : facto 1,5 187 28 4
FCT08 produit nul 05217, 6 o0

total 12
STAO1 2.A : calcul de 1,5 60 34| 28

calcul de prop| 1 74 61 14

définition 1/ 05 98 56 5
STAO1 valeur Q1/ Q3 05 96 57 12
STAO2 2.8 : calcul FQ 2 101 38 21
REP lire images 9 4 1 171] 20 10
REP calcul différe 0,5 188 11 5|

total 7
GEOO01 3.1: placer pa 1 58 5 3 10

3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GE003 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Miliey 028 81 42 3 2
GE002 3.4 : distance 05 122 18] 1 0

distance : calg 0,25| 122 14 2| 4|
GE004 3.5 : démontre 1,5 101 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GE008 3.6 : alignemel 1145 39 9 o
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1| 154 33 12 7|

total 10
MOD 4.A.1 : expligu 1112 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5 161 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5| 1

interpréter 0,25 167 16 3 5
MOD 4.A.5: mise e 05 194 21| 3 1
CAL résoudre inéq 1210, 11 4 1

interpréter 025 215f 6 0 5 5
CAL 4.B.1 : caloul 05 194 12 1 1] 23 o
REP 4 B.3 : tracer 2 1600 19 19| 20 13
MOD 4.8.4: algo — 1] 138] 26] 26/ 12| 29
MOD Algo — complé] 1] 141] 18] 15 o 57

total 1 07/ 0|45 o 65 o
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DEVOIR COMMUN 2nde
NOTES SUR 40
- |1¥2 T |2 e
2181213813
813 |3 |8 |5 %
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3 14 25 15 9,5 22| 15
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42| 3 4 117
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A.4 : lire tabl 1,5 81 43 11| 16/ 80
REP 1.A.5 : lire ant 05 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16 11 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32/ 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96
calcul de prop| 1 74 61| 14| 15 67|
définition 1"/ 05 98 56| 5 7 65
STAO01 valeur Q1/ Q3 05 96| 57| 12 6| 60
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1. 171] 20| 10 5 25
REP calcul différe 0,5 188 11| 5 2| 25
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 05 122 16 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5 101] 54] 25 7] 44
GEO04 vérifier non re 1) 204) 21 1 1 4
GEO08 3.6 : aligneme| 11450 39 9 0 38
CAL alignement ca 1 168 24| 2| 4| 33
GEO13 3.7 : construire 1 136] 46| 5/ 4| 40
CHR démontrer ali 1154 33| 12 7| 25
total 10
MOD 4.A.1: expliqu 11120 21| 3 9 86
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8| 33
CAL 4.A.4 résoudrg 1,5 128/ 17| 5 11| 70
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5: mise e 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5| 0
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 05194 12| 1 1 23 0
REP 4 B3 tracer 2160 19 19] 20 13 | N
MOD 4.B.4:algo— 1 138] 26| 26] 12| 29 0)
MOD Algo — complé| 1 141] 18 15 0 57 0)
total 1 0 58 15 261 0
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DEVOIR COMMUN 2nde

NOTES SUR 40
T2 g |y |N
812 |8 |g |8 |8
@2 |2 |2 |2 |2
0w n (] ®» |0 n
nb de copies 231
notes prises en compte pour|nr 0 1 2 3 21| 10 22| 12| 22| 16|
Devoir Comn| 40 0 0
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12 0 0
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 05 96/ 57| 12 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7| 0 0
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10 0 0
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1138 26| 26| 12] 29 O 0
MOD Algo — complé| 1 141] 18 15 0 57|
total 1 48| 0 42 0 o0 o0
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DEVOIR COMMUN 2nde
NOTES SUR 40
588858
3 23|23 |3 |2
%13 8 |8 |8 |3
nb de copies 231
notes prises en compte pour|nr 0 1 2
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3 4
FCT04 1.A.2 : lire tab 05 67 19 6 8
REP valeurs (imageq 1 70 27| 10] 13|
REP 1.A.3 : lire ext 0,5 93| 43| 24 17
REP 1.A.4 : lire tabl 1,5 81 43 11| 16|
REP 1.A.5 : lire ant 05 73 19 3 12
FCT08 1.A.6 : lire sol 0,5 101] 16| 11] 11
FCTO08 lire sol inéqual 11 107] 41 9 24
REP 1.A.7 : encadr| 05 164 44 5 2
CAL 1.B.1: develog 1,5 113 31 19 32
CAL 1.B.2.a: calcy 05 121 22 7/ 0
FCTO08 1.B.2.b : résoy 1,5 126 34| 13 6|
CAL 1.B.2.c : factol 1,5(187| 28 4| 7
FCT08 produit nul 05 217 6 0 2
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 11 204 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 11168 24| 2| 4
GEO13 3.7 : construirt 1 136] 46 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2/ 160 19 19 20| 13 o o0
MOD 4.B.4:algo— 1) 138 26| 26| 12| 29 o O
MOD Algo — complé| 1 141] 18 15 0 57 o O
total 1 0732 o o038 1
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DEVOIR COMMUN 2nde
NOTES SUR 40
<D o - o (3] <
S 131818 |8 |8
212 133 |2 |3
818 18 8 |8 |3
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3| 11(32,5] 17/11,5/25,5] 17|
Devoir Comn| 40
FCT02 1.A.1 : lire eng 05 65 42 3
FCT04 1.A.2 : lire tab 05 67 19 6
REP valeurs (imageq 1 70 27| 10|
REP 1.A.3 : lire ext 0,5 93] 43| 24
REP 1.A.4 : lire tabl 1,5 81 43 M
REP 1.A.5 : lire ant 05 73 19 3
FCT08 1.A.6 : lire sol 0,5 101] 16/ 11
FCTO08 lire sol inéqual 11 107] 41 9
REP 1.A.7 : encadr| 0,5 164] 44 5
CAL 1.B.1: develog 1,5 113 31 19
CAL 1.B.2.a : calcu 0,5 121| 22| 7|
FCTO08 1.B.2.b : résoy 1,5 126 34| 13|
CAL 1.B.2.c : factol 1,5(187] 28 4
FCT08 produit nul 05 217 6 0
total 12
STAO01 2.A: calcul de| 1,5 60 34 28 13
calcul de prop| 1 74 61 14] 15
définition 1"/ 05 98 56/ 5 7
STA01 valeur Q1/QJ 0,5 96/ 57| 12| 6
STA02 2.B : calcul F( 2| 101 38| 21| 30
REP lire images 9 ¢ 11 171] 20| 10, 5
REP calcul différe 05 188 11| 5 2
total 7|
GEOO01 3.1: placer pa 1 58 5 3 10
3.2 : coordo v 0,5 82 18 4 0|
CAL Coordo. Vect 05 73 24 9 1
GEO03 3.3 coordo.mil 05 96 24 2 3
CAL coordo. Milieu 0,25 81 42 3 2
GEOQ02 3.4 : distance 05122 16| 1 0
distance : calg 0,25| 122 14 2| 4|
GEO04 3.5 : démontreg 1,5 101] 54 25 7
GEO04 vérifier non re 1) 204) 21 1 1
GEO08 3.6 : aligneme| 11450 390 9 0
CAL alignement ca 1 168 24| 2| 4
GEO13 3.7 : construire 11 136] 46| 5 4
CHR démontrer ali 1154 33 12 7|
total 10
MOD 4.A.1: expliqu 11120 21 3 9
REP 4.A.2 : identifi 05 152 33 5 2
REP 4.A.3 : tracer f 1,5/ 161] 16| 13| 8
CAL 4.A.4 résoudrg 1,5 128 17| 5 11
interpréter 0,25 167 16| 3] 5
MOD 4.A.5: mise e 055194 21| 3 1
CAL résoudre inéq 1210, 11 4 1
interpréter 025215 6 0 5
CAL 4.B.1: calcul 05 194 12 1 1
REP 4 .B.3: tracer 2 160 19| 19 20
MOD 4.B.4:algo— 1/ 138 26| 26| 12
MOD Algo — complé| 1 141] 18 15 0
total 1 0,5/9,42| 4,5 0/6,08 6,5
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DEVOIR COMMUN 2nde

NOTES SUR 40
e
@
&
nb de copies 231
notes prises en compte pour|nr 0 1 2| 3 18
Devoir Comn| 40 19
FCT02 1.A.1 : lire eng 0,5 65 42| 3 4 117
FCT04 1.A.2 : lire tab 05 67 19 6 8 131
REP valeurs (imageq 1 70, 27] 10/ 13| 111
REP 1.A.3 : lire ext 0,5 93| 43| 24 17| 54
REP 1.A.4 : lire tabl 1,5 81 43 11| 16/ 80
REP 1.A.5 : lire ant 0,5 73 19 3 12 124
FCT08 1.A.6 : lire sol 0,5 101 16] 11 11 92
FCTO08 lire sol inéqual 11 107] 41 9 24| 50
REP 1.A.7 : encadr| 05 164 44 5 2 16
CAL 1.B.1: develog 1,5 113 31 19| 32| 36
CAL 1.B.2.a: calcy 05 121 22 7/ 0 81
FCTO08 1.B.2.b : résoy 1,5/ 126 34| 13| 6| 52
CAL 1.B.2.c : factol 1,5(187] 28 4] 7| 5
FCT08 produit nul 05217, 6 0 2 6
total 12 7,8
STAO01 2.A: calcul de| 1,5/ 60 34 28 13| 96
calcul de prop| 1 74 61| 14| 15 67|
définition 1"/ 05 98 56| 5 7 65
STAO01 valeur Q1/ Q3 05 96/ 57| 12| 6 60 O
STA02 2.B : calcul F( 2 101 38 21| 30, 41
REP lire images 9 ¢ 1171 20 10| 5 25 O
REP calcul différe 0,5 188 11| 5 2| 25
total 7| 3,2
GEOO01 3.1: placer pa 1 58 5 3 10| 155
3.2 : coordo v 0,5 82 18 4 0| 127|
CAL Coordo. Vect 05 73 24 9 1] 124
GEO03 3.3 coordo.mil 05 96| 24 2 3 106
CAL coordo. Milieu 0,25 81 42 3 2 103
GEOQ02 3.4 : distance 05 122 16] 1 0 92
distance : calg 0,25| 122 14 2| 4/ 89
GEO04 3.5 : démontreg 1,5/ 101] 54 25 7| 44 O
GEO04 vérifier non re 11 204 21 1 1 4 0
GEO08 3.6 : aligneme| 1145 39 9 0 38 O
CAL alignement ca 1168 24 2| 4| 3§
GEO13 3.7 : construir 1136] 46 5 4 40.
CHR démontrer ali 1154 33| 12 7| 25
total 10 52
MOD 4.A.1: expliqu 11120 21| 3 9 86
REP 4.A.2 : identifi 05 152 33 5 2 39
REP 4.A.3 : tracer f 1,5/ 161] 16 13| 8| 33
CAL 4.A.4 résoudrd 1,5 128 17, 5 11 7ol
interpréter 0,25 167 16| 3| 5 40
MOD 4.A.5: mise e 05 194 21 3 1 12
CAL résoudre inéq 1210, 11 4 1 5|
interpréter 025215 6 0 5 5
CAL 4.B.1: calcul 0,5 194 121 1 1 23
REP 4 .B.3: tracer 2/ 160 19 19 20| 13
MOD 4.B.4:algo— 1138 26| 26| 12] 29 O
MOD Algo — complé| 1 141] 18 15 0 57|
total 1 2,5
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